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QUESTION 1

Which of the following ports are used by H.323 protocol? Each correct answer represents a complete solution. Choose
all that apply. 

A. UDP ports 1718 and 1719 

B. TCP ports 110 

C. TCP ports 1720 and 1503 

D. TCP ports 25 

Correct Answer: AC 

 

QUESTION 2

What is the data rate of a BRI D channel? 

A. 32 Kbps 

B. 8 Kbps 

C. 64 Kbps 

D. 16 Kbps 

Correct Answer: D 

 

QUESTION 3

Which of the following layers of the OSI model is responsible for the auto detection process of the IP telephone power
requirement? 

A. Application layer 

B. Physical layer 

C. Data link layer 

D. Presentation layer 

Correct Answer: B 

 

QUESTION 4

Which of the following describes the process of not transmitting information over the network when one of the parties
involved in a telephone call is not speaking to reduce bandwidth consumption? 



A. PCM 

B. Silence suppression 

C. QoS 

D. OFDM 

Correct Answer: B 

 

QUESTION 5

John works as a Network Administrator for NetPerfect Inc. The company has a Windows-based network. John has been
assigned a project to build a network for the sales department of the company. It is important for the LAN to continue
working even if there is a break in the cabling. 

Which of the following topologies should John use to accomplish the task? 

A. Star 

B. Ring 

C. Mesh 

D. Bus 

Correct Answer: C 

 

QUESTION 6

Which of the following voice codec ratings provides a representation of perceived quality from a human perspective? 

A. IntServ 

B. MOS 

C. QoS 

D. DiffServ 

Correct Answer: B 

 

QUESTION 7

Which of the following is NOT a part of the Public Switched Telephone Network (PSTN)? 

A. Trunking 

B. Swtiching 

C. Access 



D. Transmission 

Correct Answer: A 

 

QUESTION 8

Voice over IP is an application that requires efficient use of bandwidth and reliability. VoIP must not suffer the delays
that can be seen at times with Web sites and Web applications. Which technology can be used to help ensure the
efficient transport of VoIP traffic? 

A. RTP 

B. QoS 

C. DNS 

D. RSTP 

Correct Answer: B 

 

QUESTION 9

John works as a Network Administrator in ABC Inc. He complains that he is unable to communicate with a remote
computer. He suspects that data loss is occurring at one of the routers that are routing the packets to the destination
computer. He wants to test the route that the packets follow from his computer to the destination computer. He also
wants to view the information about the packet losses at every router along the way. 

Which of the following commands will he use to accomplish this? 

A. PATHPING 

B. PING 

C. TRACERT 

D. NET VIEW 

Correct Answer: A 

 

QUESTION 10

Adam works as a Technician for PassGuide Inc. He has been asked to recommend an appropriate network bandwidth
for a medium to large business. The company will use it for the IP phones, as well as for the data connection. 

Which of the following would Adam recommend? 

A. DS0 

B. ISDN PRI 

C. DS1 



D. ISDN BRI 

Correct Answer: B 

 

QUESTION 11

Which of the following have the specifications that a VLAN has? Each correct answer represents a complete solution.
Choose two. 

A. Broadcast domain 

B. Collision domain 

C. Intranet VPN 

D. IP subnet 

Correct Answer: AD 

 

QUESTION 12

In McNeil Inc. the voicemail system is configured to send email alerts when new voicemails are left for users. Users are
complaining that they are only receiving voicemails, but not email alerts. 

Which of the following is the most likely cause of this issue? 

A. Port 25 is not functioning on the email server. 

B. Port 53 is not functioning on the email server. 

C. Port 21 is not functioning on the voicemail server. 

D. Port 23 is not functioning on the voicemail server. 

Correct Answer: A 
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